INTERMEDIATE LEVEL Worksheet Answer Key

Tess of the d’Urbervilles
THOMAS HARDY

1 Student’s own answers.

2 Student’s own answers. Possible answers:

Alec: content, pleased with himself, unpleasant, pushy. He thinks: ‘I think she’s very pretty. How can
| seduce this girl?’

Tess: a bit worried, distrustful, humble, unhappy. She thinks: ‘What does this man want from me?’

Angel

‘Liza-Lu’

Alec

John ‘Jack’ Durbeyfield
Mrs d’Urberville

6 Tess

a b~ WON -

4 (a) Marlott
(b) Trantridge
(c) Talbothays Farm
(d) Emminster
(e) Weatherbury
(f)  Wellbridge
(g9) Flintcomb-Ash
(h) Sandbourne
(i) Wintoncester

5 Student’s own answers.
6 Student’s own answer.

7  Student’s own answers, but the epilogue could contain the following points:

—  Were Angel and Liza-Lu happy together?

— Did they marry?

— Did they have any children?

—  What did Angel’s parents think of his new partner?

— What did Liza-Lu’s parents think of her marrying the man who contributed to the misery
of their eldest daughter?
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